1 _eeriire Seuimd s andidare bherdaer
Pearson Edexcel 'L" : i R
GCSE (9-1) . L_ l.- i
r' . : g "
= | |History
E Paper 2: Period study and British depth study
— R Option 26: Superpower relatlons and the Cold War, 1941-91
E and Medleval depth options R
=i VTrill.:‘yVEJunu 016 - Alernoon Bp pgmegin '
g  Time: 1 hour 45 minutes | THIO/26
E You da not need any other meterials, Eaba flaika
= |C )
i,
CLOSE THE GAP

¥ Anglo Saxon and Norman Unit 3:
Securing the kingdom Assessment.

TeiR g

O |11 11—
01 1 ILLLI LI Pearson __

T1 B Foaell LB Y ek
1‘ ¢

L L




! a TL éz{ T WL m«’_ g/wda ; QW\ZJN’AL/ 4{!(” .

I «MAM_M,O Odlo  ownad

N e M S S B B A
!

Describe two features of the Domesday book.

4 marks-

Feature 1
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Feature 2
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(Total for Question 1 = 4 marks)
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- | Explain why there was disputed succession to the English Throne when William | died.
' | You may use the following in your answer

e Normandy
e QOdo

You must also use information of your own 12 marks
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[The live question paper will contain one more page of answer lines]
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: [The live question paper will contain one more page of answer lines]




‘The main consequence of William’s policy of Normanisation was increased control of the Church in
England.’

How far do you agree? Explain your answer.
You may use the following in your answer

e Bishops
e landholding 16 marks
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[The live question paper will contain three more pages of answer lines]

{Total for Question 4 = 32 marks)
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